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A cow that damaged a garment, and a garment which damaged a cow

OVERVIEW

The X 13 cites a Xn>>72 (which explains the phrase 10> 21" in our mwn), that if a
cow damaged a garment and a garment damaged a cow, we do not rule that Xxn'
'1752 N°PVY NYvA I, but rather '0°72 MR MY, meaning that we assess the actual
monetary damage incurred. Moo will discuss the meaning of %Y ap W 79’
'm9 AP Tw n°ow (whether it occurred in one incident or in two separate incidents)
and the meaning of the (rejected) concept 7121 N°2v2 775 RN (11K K?)'.

- AT AR ATIPNAY TDIVNPN YIS
"w explained that the meaning of 779 7p*1W N°HYY N9V ARIIW 779" is that the

719 and the n°>v damaged each other (in one incident), and the rule is -
- 4TIPN DY AN 199N PITAY M) U2 PTIN PRI

That we assess the monetary value of the damages, and the one who caused the

greater damage, pays the excess damage to the other. [This is the meaning of X PnY'
'a'nTa.]

mooin asks a question on "w:
- Z?t’:‘n 48N 13990 YDV NPNNY N9 TN HYT AV

And there is a difficulty with this explanation (that they damaged each other
concurrently), for perforce you must assume that the 775 damaged the n°v in

the P19 937 (in the MW of the N9 Yv2), and it was in a situation where -
- 539 %11 99190 797 IN 197 1) PSTAY NN IN

either the 7775 had intent to damage the 3,7?’3,'( nwna n°hv and it is considered 1p;
or it damaged the n°%v while it was walking in the p1°17 7% and it is considered

B31; in any event it took place in the P13 7%r -
- 23 0yVN MY ‘D390 MY 13990 19 NPV MOV

And the case of 775 ap™AW NvoY took place in the 2'"777, where the n*hvn Hva is

!'779 1"12. See however the n"a71 M there (that there were two unrelated incidents). [It seems that our MooIn had a
different X073 in >"w9.]

* moon will shortly clarify why this is so. *"wA also states this clearly that n°90 Ap*Tw 779 is pran Mwaa.

3 Even if it is (P12 1nmd) 1P it still must be in proa7 ¥n; otherwise it is subject to the rule of 71°w1 TNX X1 mIwnT 93
05 12 (as MdOIN points out shortly).

* It is possible that 779 7P°Tw n*2v is in the (7797 Y¥27 MwI) I J%n, but the same question remains; it cannot be in
the same place where n°>v 3p*1w 779 (which must be N9 9¥a mwA3).

1

TosfosInEnglish.com



79 "7 '0n 2,7 P 7o

liable because the n°%v is considered his =13. It is therefore difficult to accept *"w7d that
the 7791 nov damaged each other concurrently when the respective damages took place in
different M™Y.

mooIn will now explain why we must assume that 779 7P°1w 020 is only in the p1°17 9% and not
7"172:
- 1P DYLNI B3390 MY 32 MOV NPITNVY NI MPIND TWIN INYT

For it is impossible to establish that the case of n v mp 17w 775 also takes place

in the 27717 (as 779 7P 17w N°50) and the 7797 H¥2 is liable on account of 7 -
- 199 Yya 99 7PN )2 ONT

For it this were so, that the 775 was 1 the 1"772 n°%v, then the owner of the

7192 would be 9W® from paying the damages to the novn Hva -
- 9109 12 1YWY NN KIY MIVNA U5T (2 91 72 P93 DY MNINTH

As the X7n) states later in the second pap; ‘that whoever does something
unusual, and another came and did something unusual to the first party, the

second party is exempt from payment’. The question therefore remains how is it possible
that the n"9v1 775 damaged each other, if they are only 271 in different n1wA.°

mooIN anticipates a possible resolution to his question:
= PN MY 98N MOV NPT NIY YN 19Y YD) ON 199N

And even if we will explain that this is what happened; that first the 799

damaged the n°»v in a 231 which was the P37 W (of the nvour Yva) -

- ©°290 MY N9 NPNAY YOI
And then the nv>u of the same P11 damaged the 5772 in the 2"';17. We therefore have
a case where they damaged each other (successively [in different m™w7], not simultaneously).
This would seemingly remove the difficulty with *"w2%s.

moon however rejects this solution, for this concept that we assess the damages, and the P
who caused the greater damage pays the excess, is nothing new for -

> The X1 there is explaining the ruling of 21 that even if the 7272 ate 7";7172 2°291 MO the A”727 Y¥3 is Mwd (and it is
not considered 1"7172 177). The reason is that the 2°231 M7 Yva was 7wn by leaving these items in the 2"739 (which
is unusual), therefore the 773, which was m1wn by eating the 0°231 M03 (which is unusual), is 25 (and we do not
consider it 1"7772 17p). The case of 1"772 n°%v AP 1AW 719 is similar to the case of 27, and the 1°7 would be that the 5va
7797 is s,

% See X"w1mn who answers that according to *"w1 W on the (237 7"72) 'K TMY; a TR DMWY DI NTATHT T80
m"oY, is considered a 17177 7% for the Mo 2¥2 and 1"712 7P for the o™ mw. Similarly here too the 2%n was 7717
2 Wh omaw and n°Pv? 7%, The 719 trampled the (P17 w2 237) n°%v and tripped on the (7"772 112) n°%v. The S¥a
7197 is 271 for the n°5v (since it is Pr237 Mw) and the n°50i S¥2 is liable for the 779 (since the 2w had N to be
there, the n*ov is considered a 1"'7112 112). See ‘Thinking it over’ # 1.
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- T2 NTIYANY DN PINY 73 (x50 97 NN P92 1PY NOD 1PHINN NN
This is a mwn later in w7 P92 which states ‘two oxen that were asan, who

wounded each other; the rule is that -
- oYy P 92 0MMYYUN DTN PTINN 9MN2 =232 AV}%)

They pay half of the excess; and if they were 27¥m they pay the entire excess.
What therefore is the ¥17°17 of our 71wn the way it is explained in the &n»72 that (only) the excess
is paid?” We know this from the 7w in man!®

mooIn offers a solution according to "ws:
= Y9913 910 NPT Y UN

And one can say that it is written first in our 71w (without specifying the details)

and later in m°117 79, the 7I1wn there specifies and explains our 7wn that they pay
amn2.° This concludes Mmoo discussion of *"w s,

moon now offers his interpretation of the Xn>12:
= (8,397 11252 V) INN NN DYY DN 19 2N IN INT UI91) DN 1%

And the n'"+ explains that the ' in the word 'n°"?vY' (does not mean ‘and’, but
rather it) means ‘[either] or’; similar to the phrase 8% 72 qwwy vo5n' (the 02
performed 13°%m, (and) [or] made a 22K», (and) [or] gave a vx which is found in

N2% NO0N. The "' in 7wy and in 101 cannot mean ‘and’ but rather must mean ‘or’; similarly
here the Xn»72 is discussing two separate cases; either the 715 damaged the (P1°17 mwn2) n¥ow, or
the n°%v damaged the 2"772 79.

moon will now explain what the 8072 (is teaching us, and what it) is not teaching us:
=PV NN DAVWA HYYVN DI NPIY DIININ PRY 1IMNYND NI XD

And the Xn>92 (when it states 121 02 779 R¥N D0AIR PR), is not coming to teach
us (in the case of 770 7P 17w nhv) that we do not say that the 7757 Yv2 may

(only) take the entire n"»v as payment for what the n">v damaged the 7n9; this is
not so -

" The xn»M2 rejects the idea that 121 n°%v2 775 R¥n. The X" (of N*Pv1a 779 X¥N) is understood (by NDOIN [see NMBOOIN
799 1127]) to mean (according to >"w7) that no one has a claim. The two damages cancel out each other. M90In argues
that the m1wn in m°1M7 rejects this idea; we do not need the X072 to teach it to us. [In our ("X 7"72) *"w7 however the
meaning of n°%v2 719 R¥N is that the N°2vi %v2 takes the 779 as payment (and [seemingly] similarly 7792 n°%u Xxn
would mean that the 71977 v takes the n°2v as payment). The rejection of this idea can also be derived from the
same 1Iwn in 171°127.]

¥ See y79 "1 who explains the question, that the X723 should have cited this Xn»92 in connection with the 71w of
a1, which is more explicitly similar to the teaching of the ¥n»n2.

? Indeed our mwn and the later 7awn in i3 (as well as the Xn132) give the same ruling. However the later 71w is
more specific. One cannot ask, therefore, what is the w1717 of the 71wn (or the ¥n>13).
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=999 O5WN X2 NIN 2 MYV NN
For the 21n of the nv%w to pay is because it is considered as 712 and 712 does not

pay 129a%; rather it pays 1%vn. Therefore there never could have been a X120 that the n*%v
should be taken as payment regardless of how much (or how little) the damage was. '’

mooIn offers another reason why there was never a XmX M7 that he takes the entire n°%v as
payment for the prn:
= NNNNT PNINNND NN 1YY 9 TV

And furthermore we already also know this from the mwn in m1%73, which
teaches us that there is a payment 7n122; meaning that the payment (7n122) is based on the actual
monetary damage."!

mooIN now explains what the 8091 is teaching us in the case of n°%v P W 779:
= $°H02 NI NYN PININ PRT DN 13929 9IIN NON

Rather, says the n''1 that the phrase which states ‘that we do not rule (in the
case of N2V IpPIIW 79) that the 795 should ‘go out’ and belong to the n°%vi 2

for the damage it caused to the n¥»w’; this statement -
- P15 Y VYN (ow) NINNA JNIPY MMNT NIPY 1399 NYT )1MNYNRY Na

Comes to teach us that we do not follow the view of ¥''% who maintains later in

mean 29 that the damaging ox is confiscated (and given) to the victim; we do not

accept this ruling (according to the ¥n»12) -
= 99991 J9P2) HNYNIY? 1395 DV NIN

Rather we maintain the view of 5''9 that the ox is assessed; and the case of 779

oY apTw is discussing a 3@ situation where the 779 intentionally damaged the n*ov."
The meaning of N2V 77D X¥N 1K XY is that we do not say Wi v2n, but rather MWwn owY as
the Xn»92 says '0 72 7MX PRw ROR'. This is also the meaning of our 71wn which states '1o2 oW

mooIn continues to explain what the Xn>92 teaches us in the case of 779 7P 1AW NOYU:
= 9051593 32) NDT )IPNYND NON 1993 5PHV)

And the case of 75 7P 1w nYHY is coming to teach us that the P11 cannot collect

' See “Thinking it over’ # 2.

" mooin used this 7awn to negate the explanation of *"w7 concerning 121 7792 n*ov X¥N (according to either vws
mentioned in footnote # 7.)

"2 There is a Y2 between *" ¥"1 in the 9 277 by a on. According to ¥" the an M belongs to the pr;
however according to "1 the 7% does not belong to the P71, but rather the P31 may only collect from the estate of
the 11 up to the value of the an. One of the differences is in a case where the pr1 was w*7pn the P17 1w (before he
received it as payment). According to ¥"1 it is W7pH, but not according to *"".

Bt is only in the case of an 17p where there is a need to rule according to >"9. If it were 737 then there is no 1°7 of
1217 at all, so there can be no X" that Wi vonA.
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his payment for damages from the (n°>v which is by the) orphans of the P>, even if
the n°%v which caused the damage is intact.

mooIN continues to explain why there may have been a X720 that the 211 may collect nnn:
= YTAYNYN RY MINMT YHVLVNT 2) HY GN 22T PNYT NPYD NI

That it should not enter our minds that the ?1°1 can collect "»n°»; even though

the rule is that the P»ubun of 2°»In are not indentured for the father’s obligations,
nevertheless we may have thought, that -
= P HY INI MY 1NT NHYN 19 NN NINRY NNT

That which the 7770 rules that the P11 (of 712) collects 2%¥57 3% (and not 1D1),

that is to strengthen the power of the P11 (it is meant for the benefit of the pra),
meaning -
- 1597 19 BYYS 1PN MY PIIIN PN ONT

That (even) if the P is not worth the damage; nevertheless the Pt pays the
entire damage m>%¥57 I8 -

= YTAYNYN RY N7 2D0HVNT PIIT NTID NN NDYN 19 NIDNWN INT IN’a DAN
However by 2 21, if the P11 can collect only 5799977 32, it will be a loss for the P2

for >Tapnwn R® "n7 YuhYR; the P will therefore lose his claim -
=999 OIYNT XININR NN 0NN D91 IIND 1T 2959 129N N2)? 199 BINYN IN)

However if he collects 121a% then he would be able to collect the n°%u even “ans»,
for it is considered as if he seized it while the P11 was alive' and I would have

thought that the P*t» pays 1933;'° this Xn»12 teaches us that he cannot collect the nv
"nn°n, but rather the rule is P»Ww and there is no lien on the n°>v. This is the meaning of 'no> oW’
in the mwn that there can be no specific lien on the °12:77 927 (the n°%Y in our case).

mooIN rejects a XO7°A (that may have justified *"w2 nYW):
= (ow) NINNA JPIPYTI NI NTIVANY DIV IN°Y )5 ONY a0 NPIY D99 19°09) XD

And we are not o7, ‘a cow which damaged a sheep’, for in that case (if we
wish to mention animals that wounded each other), the Xn>>72 should have taught

‘oxen that damaged each other’; as the mwn states later in 1793257 279 (and not 773
a1 v o). Y

" If a creditor seizes the 1"7u9un of the debtor while the debtor is alive, he may keep them as payment even after the
debtor died. If there is a "7 of 1971 by n*%v, then as soon as the n°?v damaged, it became indentured to the P11, and it
may be considered as if 2> 109n.

' The X" was that we say 7%¥» only when it is beneficial to the pr3; however if it is more beneficial to the P to
claim 19131, we may have thought that we do what is beneficial to the p1°1. See ‘Thinking it over’ # 3.

' If this would be the X073; it would explain *"w1 nu*w; for they both damaged each other simultaneously in a 7"
"7 However, according to mooin the X072 mentions n*>1 779 to teach us the two W1 concerning 7179 (that we
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mooIn justifies the usage of N*9vY 799 specifically (as opposed to 2°721 M3, etc.):
YDV N9 DNPAN ONY NN (3,78 97 1p%) 1IPIINRTI IV N9 9ITND VYN 79N

And it is customary for the X723 to mention a 775 and a n°»v (in conjunction
with each other) as the X3 states, ‘their father left them over a n¥w) 77p°.

SUMMARY

According to *"wA the Xn»12 teaches us that in case of 191 v APAW 779 (whether
it happened concurrently or consecutively), we do not say that the damages cancel
out each other (and/or each p11 takes the P for collection), but rather the
damages must be assessed and paid accordingly.

mooIn rejects this X" for it contradicts the 71w in 17 (and the cases cannot be
concurrent). NM90IN maintains that we are discussing two cases; N2V RAY 779
teaches us that we do not rule MW: VoMY but MW awY; and 779 AP 1IW DYV teaches
that the n°5v cannot be collected *nnn.

THINKING IT OVER

1. Why cannot we explain >"1'® (even according to mpoin nuw) that we are
discussing a o wh MWL nTIvRn T30 and TIR? N°YwY and the 79 damaged the
7192 n*o (as °1p) and the n*ov damaged the 779 as (2"7732) 112?27

2. Why did no1n not ask this (additional) question on *"w2? How can *"w9
maintain that n°2v2 719 X¥n (means that the 7197 Hva takes the n°%v as payment);
since the n°%v is M2 and M2 does not pay !> How could have there even been
such a x120?1%

3. m»doIn states that the W17°n concerning 779 7P 1w n°%v is that the pri cannot
collect the N9 from the omn*.>* However once we know from the X that this
XN>92 maintains W awy (and not MW VoY), how can there be a X120 that the
511 could collect the nnon nou?*

maintain owy> and not v2m*) and concerning N>7v (that it cannot be collected *nnn).

'8 See footnote # 6.

19 19p is 21 whether this is considered a 2" (according to NN or P11 7X¥1 (according to °"'w).
2 See 1"nx (footnote # 20) and WP MK 1" *W17n.

I See footnote # 10.

22 See X"wnn (and also footnote # 7; p"1).

2 See footnote # 15.

* See the (v1wD1) 2,3 19P% X3 and 1PN MK 1" "M 30 MK "9
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